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Please make sure that the printed pages in this question paper are 8 in number and
it contains 19 questions.

o WA 7 G FY 7 T A T B o7 Gy B FHTT 0T Gy

The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

« FV T F FTCI0GT Y& F7 T, ST 7 S T i
Before beginrung to answer a question, its Senal Number must be written.

« GH-gRaE % T F @l T/ 9 T Fe)
Don'’t leave blank page/pages in your answer-book.

o« TG & ST B o e 7@ A FT SeTEdgar & e ol far gav 7
]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer. -

o WU o A Fo FT-TH T T WG U Fo & AR A T A g o 7
e ot dafes gt 3w w o S 7 e ' |
Candidates must write their Roll No. or the question paper. Except Rell No. do not
write anything on question paper and dont make any mark on answers of objective
lype questions.

o mwgm##ﬁqgmwgﬂ'Wiwgﬂf!W%W#mw
T & 3 o ar ey 7] AT T '

Before answering the questions, ensure thet you have been supplied the correct and
mmplefe question paper, no claim in this Regard, will be entertained after
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i) &% 77 ST &

il 9% w7 @ PulRa oi% 399 G Ro o & |

i) T GG 1 @ QFE (i-xvi) TGS Tt F aier mr & g9% AT 1 % F & pyy
i) & (viii) ﬁ%‘@%ﬂﬂm% mwaﬁﬁfqﬁ#ﬁwﬁ*ﬁ##@w
ey gr & w999 (ix) #(xvi)wm?wwmﬂ?’fgf

i T T2 A8 qF iy agaieE w7 & [ g9 5o 2 57 e

T T 9 16 7% agaaes W & ol 58w T 4 o ¢l

) T AT R 19 o7 e g7 & B aen JT 6 o W e

vl T S T 7 e ge avae &
General Instructions :

(il All questions are compulsory.

() Marks for questions are indicated against each.

() Question No. 1 is divided info sixteen (i-xvi) objective type questions. Each
question carries 1 mark. From question (i) to (viii) are multiple choice type
questions. One correct option has to be chosen out of four optiosn n each
Question. While questions (ix) to (xvi) are of true and false type questions.

(vl Question Nos. 2 to 8 are very short answer type questions carrying 2 marks
each

(v] Question Nos. 9 to 16 are short answer typé questions carrying 4 marks
each

(i) Question Nos. 17 o 19 are long answer type questions carrying 6 marks
each.

(vij Internal choice is available in all long answer type questions.

(s )
(Objective Type Questions)
1. @eRwEN ghT
Choose the correct alternatives :
() % e SETE & 06 g T e A @ @ R 2 1
(A) FET
(B) ¥ @ 9w

(C) orfea &
(D) FFFEd 9
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(iii)

(3)
Which of the following js 4 merit of a good questionnaire ?
(A) Difficulty
(B) Less number of questions
(C) Not in proper order
(D) Invalid question

(A) @ T TFTN 3vE g

(B) SV-fowifa amaw R

(€) T ImE

D) ¥ & B &

The types of bar diagrams are :

(A) Simple and multiple bar diagram

(B) Subdivided rectangle diagram

(C) Pie diagram

(D) None of these ) |

TG, TR A T TgH § B-a g o § 7
(A) z=3M+2X (B) z=3M-2X

€ X=22 D) ¥ (B)7 (C)

What is the relation between mode, mean and median ?
A) z=3M+2X B) z=3M-2X

C) X- 3“"; . (D) Both (B) and (C)
(iv) T YiE H G @ -

(A) CR=X-L (B) CR=g;i

© cr=Z2 D) A B 78

Coefficient of range is :

(A) CR=X-L B) cr=H-L
H+L

(C) CR-= H; L (D) None of the above
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v FT D T qRedT @ @ R 3 B ¥ @ ey ¥ 1
(A)  FOMHSD (B) g
(C) (A) T (B) 3 (D) YU
When two variables change 1n the same direction, then such a correlation
i1s called :
(A) Negative (B) Positive
(C)  Both (A) & (B) (D) All of the above

1) SN AT 3 T T A BT R e T gR A Ao 7 g
(A)  S50% (B) 55%
(C) 60% (D) 65%

On the eve of independence, what

percentage of national income was
obtained from agriculture ?

(A)  S0% (B) S55%
(C) 60% (D) 65%
(vii)%ﬂﬁﬁwﬂqﬁﬂﬁﬂﬂﬂmﬂwm@ﬁ? 1
(A) 1951 - (B) 1947
(C) 1940 | (D) 1935,
In which year was Indian first Five Year Plan launched ?
(A) 1951 (B) 1947
(C) 1940 (D) 1935
(viii) 71 & & I R MUY WRaT 3 w9 F o o ® 7 1
(A} Iramrd (B) farem
(C) Ta (D) i
Which of the following is considered as social infrastructure ?
(A) Transport (B) Education
(C) Communication (D) Energy
TR Freilonrde w7 G & a1 o :

State whether the following statements are true or false :

2312

(ix) st amr e fem & @ &

Foreign trade is an engine of economic growth.

X) T & R @ B AT # sreme R 2

Unequal distribution of Income Is a reason of poverty in India.
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| ) (5)
(xi) ‘ﬁ,m-ﬁmmW%WﬁTm%l |

Land. Labour, Capital ang Organization are four factors of production-

(xii)fﬁmmﬁﬂﬁw@qﬁuﬂ% 1
Education 1s a conscquence of human capitﬂ] formation.
[xnnamaiﬁ’j@wﬁqzsaﬁqﬁmm@aﬁ@m;ﬂméﬁ%l 1

In an exclusive series, the upper limit of one class interval 1s the lower
hmit of next class interval. '

(xiv) TETEH T Ted OHIEH B 3 1
Coefficient of correlation is always positive.
(xv) TEHE 3 B P KR A Y a@ ofgds B AW A L 1
Change in price level is measured by index number.
xvi) R ST Bl @ F g o B ’
Seasonal unemployment is found in urban areas.
(- )
(Very Short Answer Type Questions)
2. e B i ot @ 2
What is economic activity ?
3. e qu s swet & @ o ford 2
Write down any twe differences between primary and secondary data.
4.Wﬁlﬁmﬁﬂ%ﬁ@ﬁfﬁ#{-ﬁ%? 2
What are methods to calculate correlation ?
5. YT B GEHE € 7 2

What is consumer price index number ?

6. fidia &5 @ =1 g & 7 D

What is meant by Secondary Sector ?
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231
7. 3R @ A @ R KO

Write down any twe features of Indiay A;:r'it*lllmr{:. 2
8. WA 3 q& 9 q Patd 3B B 7

H 2
What are the mamn imports and €Xports of India -
(Short Answer Type QUEStions)

= R 5 Rt

TR fWii, mwwwwﬁmwwm: 4

3 1o de 17 18 | 18 | 17

—
-2 115 |16 | 16 | 17 | 15 |
e 16 15 16 | 15 | 17 | 17 | 1q 19 16| 15 | 16 |
The iollowing data is the age of 25 styde

| . —eents of Class XI of our school. Arrange
the data in the form of a frequency distribution - https://www haryanaboard.com
= - B T | ] ' |
15 16 16 | 17.] 18 | 18 '
E T - = f'_“—;-r—-“"]—'Z- !'é- ]l-§— 12" 12'"__;7"’ IS_J
16 16 15 1g.] 15 17 | 17118 | 19 | 16 | 15 | 16 J’

10, s %Wn@eﬂmﬁwaﬁm%?mwwmmﬂ?

11. HHE | T T TG o 3 B 4
10 | 20 | 30 | 40 | 50 | 60 | 70
M, 15 | 18 | 25 {30 | 16| 10| 9
Calculate range and coefficient of range from the given data
~— Marks | 10 | 20 | 30 | 40 | 50 | 60 | 70
- of Students | 15 | 18 | 35 | 30 | 16| 10| 9 |
2. T o Pt 3 s R ¥ gy e 7 ¢
What is the role of human capital formation 1n economic development ?
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13. WG & FTE B AT IO a7 oy

Explain four main causes of unemployment in India.

14, JERVd T B T Ao 8 ?

What is the importance of Infrastrycyyre 2

a1 SR B AR Y ey 2w O TN

Define the concept of sustainable development, write down its conditions.

15.

16.

17.

2312
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Make educationa

(Long Answer Type Questions)

(e w4 )

o faeRer 31§99 91 519 i

T

0-2

2-4

4-6

6-8

8-10

g

2

4

6

8

10

~WIS€ comparison between India and China,

Find out the arithmetic mean of the following distribution :

Items

0-2

2-4

4-6

6-8

1i8--10

Frequency

2

4

6

8

10

———

Y
OR

Frfoiea smafr Raor it aftw T A -

ol A T

1‘ 0-10

10-20

20-30

30-40

40-50

b e A

22

38

46

35

20

Find out median value of the following frequency distribution :

Wage Rate ¥

0-10 | 10-20

20-30

| 30-40

40-50

[

No. of Workers

22

38

46 :

35

20
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18. W & el dorolt & AT SR A vk g,

19.

2312

Explain long term objectives of FIYC Year Plans in india,

L
OR

"R} il Pl & arwder 9 T Fy

Describe the failures of economic planning in India.

AT T Ferdiaer & wdy 3 A B

Explain in brief Globalization and Liberalization

HYqq
OR

LPG it 3 werrenss st &t 6 v
Explain the positive impacts of the LPG policies.
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